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-{r/r"bku’:’u:au“y/ﬂd/é./// Sk L L/,:(u:/b ol < _f Z.;/;u'tftf/b,w»dw

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Colour of concentrated solution of KMnO, s : s N A ,‘e«./‘f"/ L KMnO, |11
Dense purple: W247B)  Dense red Ll A
Dense white. #f% (D) Dense orange é/ﬂ!ﬁf (C) ‘
Free mobile electrons are pref B Lt Lwag J/Lr $il2
Non-metals % AUt (B) Metals A (A)
Covalent compounds "ift-f\b%/ (D) lonic compounds J43L/E¥T (C)
Which one of the foilowing elem®n “Helongs to : %%Jw}, (11) oJ”;JIMWu/c,ufJ.;Zw; 3
group eleven (11) : )
Zn (D) Cu (C) Ni (B) CO (A)
Mass of an electron is : te UL U2 4
9.106x10" g (D) 9.262x10g (C) 1.0087x102%g (B) 1.672x10g (A)
(’Cﬂ-'dn}}) \2)
In electroplating of silver, silver ions deposit on : . Jﬂ G ST o .@’z;/’gi J s 5-1‘
Steel f (D) Spoon Z~f’ (©) Glass ¥ (B) Rubber % (A)
Which one is free radicals : P Shigi e ol & 2 oils
_ cl, (D) cl (C) H* (B) cl (A
Metal hydrides have oxidation number : : / u”-,‘g/T § KL Hl7
-4 (D) EX > 2 (B) -1 (A) .
Lanthanum series started from Z =7 : : - Jn L;/“ Z=?z 7 snaginllg
59 (D) 58 (C) 57 (B) 56 (A)
The father of nuclear science is : te o § u"‘/L/ ffx 9
Crooks Jg/ (D) Thamson ¢ (C) Bohr ;4 (B) Ruther Ford 3/, (A)
Which one molecule will evaporate first : : ?ndiufabl'f.dzgwufégcqufu! 10
Cy,Hy6 (D) Cio3; (C) CgH\ g (B) Cell1y (A)
Which one is more stable and hard covalent compound : : < ﬁsg’ wksf =5 {Gy Uy L1
Cef 1,04 (D) H,50, (C) CO, (B) CH, (A ‘
Dental amalgam for filling of tooth is a type of solution: L‘JVJJ’L’.c,t'b/Juil//Lurbfpr’"; 12
Liquid-liquid L2l (B) Gas-gas qu‘«/ (A)
Solid-solid U (D) Liquid-solid U224 (C)
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10 2. Write short answers to any Five (5) questions : e yn L ey 5) &L df -2
(i) Differentiate free radical and molecular jon. ..é:( J/ o J 7 /;;g Vol gﬁ.é/’ u’) (i)
(i) Soft drink is a mixture and water is a compound. Justify. -“éc)&z.:d _%ﬁfﬂb‘/&&.fy/?‘a/;i@;‘&y (i)
(ili) What are the defects of Rutherford's atomic model? fur Y S B L JI L 30, (iii)
(iv) Write down any two properties of ¢ ticoi o (PR _5 (f :,Llr’?. »§ ‘jf J ‘//5;;‘-/ (iv)

(V) Define electronegativity. Which ) et Jé; b, Y In¢ ﬁ,uf_ oy /;;J d.j L, e V)

5

element has the highest value of el@ctr&; gativity? X X
(Vi) Why are the elements called S and| tﬁck elements? ‘."g bl Lf u;:.’/ u’V"{;J P S fu’“’% (vi)
(Vi) Why does the size of atoms decreaﬁa ir? a period? e teud /oL ¥ ﬁ' U kg (i)
(viii) What is meant by effective nuclear arge? ?q_)'/lfc. (effective nuclear charge) Ll A 2% (viii)
10 3. Write short answers to any Five‘%&).questions : ol ez A7 L = Ul (5) ét & Jf -3

2 & e » .
() Write the importance of electronic configuration of noble gases. -gfl:{foﬁl(fu{/@/ Jz/’/'g 'J /-::r I (i)
. & - A, K 4
(i) What is the effect of intermolecular forces on boiling point? ?‘at’nﬂl[{ 2oy By oy V224 /{g LA (i)
(i) Write the electronegativity values of H and C'f atoms. _,_é“// Jé; &r‘..‘g/‘g’ d/ A Cl s H (iii)

(iv) Differentiate diffusion and effusion. . e JAY A I 18 R (iv)
(V) How boiling point is related to vapour pressure of quuid??‘aﬁu Y < Arps L dlt (&lz’v@/b,’ (v)
(Vi) Define molarity. Write its formula. 24 S g Lﬂ -,,é __g/? J &A” (vi)
(ﬁlaﬂ)

2 o & 2 .

3. (vii) Define endothermic reaction. e ) -g;:: s-?!/" g :gg ’j/“J‘/f’u?’ (V"i'i))‘ -3
(viil) Why does colloids show tyndall effect? Y04 S U o/;lbff s P e JX (V’lf

10 4. Write short answers to any FIVE (5) questions : 3 "J.:,gm/"z?wy (5) ét c; d‘ -4
(i) Define reducing agent with an example. o] o Je& ANy TGCAN: Y4 (i)

(ii) Galculate oxidation state of nitrogen in Cu (NO5),. -g{p"”&a’&yuf%’?ft‘;& Cu/.(]\‘/(b%)z/ (u)
(iif) What is the advantage of galvanizing? . ) ?Laéub b ¥ ?2 ping (‘”')
(iv) Justify the given reaction is a redox reaction : P U’{ IS, gﬂ,g/ u"g ] J“ il Sk (V)

2Na + Cf,—>2Na(C? . . p e
i f magnesium. & gF el 3 L o (v)
(v) Write down any two uses of mag - g uf/ JL,;«LU.{ s uﬂ’(; u’[ e ﬂf v,

(vi) Why is gold not used in pure form? : ¢ A d
(vii) Write down the name of any four halogens. -é 77 e ol /’,{7 e & d:( (vii)

(viii) How does methane react with ‘."géf..*zf I8 A L p 4/ (CH ) cigina 5 G S e (viii)

Ve e e
chlorine in bright sunlight? ( PART- Il 5 0 ) g m L e &f -
Note : Attempt any TWO questions. ' é‘/“ .VL 2 Z/ iy
5 5. (a) Write the five differences between compound and mixture..2& )/ ..é& 0|2, ...j/u £3 73( r i
& . 5, ) s L
4 (b) How coordinate covalent bond is -é (‘jb S e ugl/ » e U 4 kLo wsked 20T (o

formed? Explain it with the help of two exampl?s./’ , i .
5 6. (@) Whatare isotopes? Describe -.éuy.uéw liq’/yg;i‘fu,g’ycﬂ/K ?i;)!/gfc;gf::’/ i (W) .6

isotopes of carbon, hydrogen and chlorine. . 4 . , ]
4 (b) Write down any four typical properties of gases. ) _ar =ler? JSb ' Y d/ d/ /:{ E:J),) ,
2,2,1 7. (a) Explain the construction and working of -’9(‘«.0’%’/@'5}3 -g‘;’uy./m:uw S JJ‘-’ 3 -
Daniel Cell, draw diagram also. N . . " L
4 (b) Discuss the effect of temperature on solubility. -{.’: &5 & L /_,:/3' £ Lf" Wy (o)
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L iz ..//J:_u‘uj/’)ég}d(zﬁd'r//d{dli u”c)_,c_’D s CcB« A_/U:’,EWZJ‘// Y

_Kf/r"bhvfiu)au*v/ﬁu;// Jok { L/Ju,vb wl e LI L/;m/u//uw(jw
Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which one of the following is heterogeneous mixture : 1= /ff Jﬁg/‘; L u/ = & Jj;‘ %
Sugar solution €/ (D)  Milk of magnesia .lgé‘.: 7L (C) Ink & (B) Milk (s20) b (A)

A bond formed between two non-metals is expected to be : :€x% ; 0 E g £ )’fut ”
Metallic L& (D) Coordinate covalent wks/e34,7 (C) lonic %7 (B) Covalent ek (A

Which one of the following : < u’i’ S L& JL J/ L in '/’/ o Iy J"’u’ of < L J; )

metal burns with a brick red flame -

Calcium axilsS” (D) Iron ¢77 (C)  Magnesium ai:8sa (B) Sodium (<3 (A)
The most abundant element occurring in the : C_JL'L’U/}LJLJU*QM-L‘LULVL.LJ/H 4
oceans is :
Silicon &k (D)  Nitrogen 4t (C) Hydrogen ¢4, (B) Oxygen u'f:(f (A)
VL N (2 )
Formation of water from hydrogen and oxygen is : Lu’{’dzdg‘{l/ufb"(dl,afwkfuy 5-1
Acid-base reaction uﬁgid/ k17Ul (B) Redox reaction u’fid%f(l,w (A)
Decomposition (% (D) Neutralization FIkE (C) -
The mass of one molecule of water is : e Ut ¥ J{»Ol. vﬁ L [3& 6
/¥ 18 kg (D) /3 18mg (©) S 18g B)  sfii18amu (A)
Wthh one of the followmg is strong electrolyte : L _*/U;/"?! Pb L uf & i uf;’ L7

NaCtin water / NaC@u"dL (D) Ca(OH), (C) CH3;COOH (B) Pure water &LJ’JG (A)

Along the period, which one of the following decreases : : < dlp Ay H/ Z Jf o YA Lr L8
lonization energy &/’u‘/tﬂ (B) Atom.c radius J’MJL” (A)
Electronegativity % }igf,)-l)/‘g' (D) Electron affinity o) ul/-d! (C)

Deuterium is used to make e tw JW! L L iy « Ui

Heavy water /is $y7 (B) nght water /1y 24y (A) .
Hard water /1 3,4 (D) Soft water /1 &3 (C)
How many times are the liquids denser than gases : St Lw G el g 4f Q/J/ (_/L 10
" 100,000 times (D) & 10,000 times (C) & 1000 times (B) & 100 times (A)
The electronegativity value of fluorine is : V fe ,L, u’ mC/dl J J/}L’ 11
4.0 (D) 3.0 (C) 2.0 (B) 1.0 (A)

1f20 cm® of alcohol is dissolved in 100 g of water, : gméiz.lgk@"dfq 20 cm u.’:dg _(1/100/

iti lled :
it is calie ViV % (D) v/im % (C) miv % (B) m/m % (A)
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10 2. Write short answers to any Five (5) questions: 4 AR 4 /""' L ety (5) ég - Jf -2
(i) What is a scope of industrial chemistry? S _{,& 'S o’//f/ S ()

(i) Which two elements exist in liquid state? Write names.-’&irt ?@L@ngdbétu&%w&f@i)
(iil) How isotopes can be used for the treatment of cancer?%c. e LgyUWé/;LwL./k%ﬁiﬁj (iii)
(iv) Define a shell and a sub-shell. -é by/"' J wa s K (iv)
(V) Write any two salient features of long form of periodic table. _ézr_,/ /iv Lar"(" 19305 &fJJ"‘;f}L/}pGJ g (v)
(vi) What is meant by law of octaves? Who put forward it?‘.’éz:{d’, 7 Ve dlp k’/ & )};f/T ST ey (vi)

(vii) Write two objectives of Alchemy. ' _“é {f“ wol gy L et (vii)
(viii) Define ionization energy with an example. &= JE L g‘{ ..31/‘7 J G AT (viii)
10 3. Write short answers to any Five (5) questions: ol AR /‘"5‘ L =ty (5) é& o J:( -3
(i) Why do atoms react? ;4 S ol .*z..(fd/ SRT A (i)
(i) Write two properties of ionic compounds. _g?’:/ {f o&ar" ) d/ Ji‘fl{ E¥T (i)
(iii) Differentiate lone pair and bond pair of electron. ‘é ke G U kL ol el L u,}gt (iii)
(iv) Why are gases compressible? fe CC b L UZ.( f /-:.r (iv)

(v) Evaporation cause cooling. Give reason. _.‘é Uk 2 - Jf wy S e St ..g (ﬁ/{_c;‘f (v)
(vi) What is the difference between unsaturated and saturated solution?‘-‘;.J}gufu:)’fe«,/g’m#./g' Wi (vi)
3 o
(’_(Ah 3,9) ( 2)

3. (vii) What do you mean by v/iv % concentration unit? S sl = &%‘uﬁrﬁmf \ilv % (Vn) 3
* (viii) Why suspensions and solutions do not ez S UX-') b ¥ < JiE Pl AT (vii)
show tyndall effect? ' ) B I i
10 4. Write short answers to any Five (5) questions: . R4 /"' L =iy (5) é,g & (5/ -4

b~ & . A Y

(i) Define alioy with example. -g‘::( “z’l./ L. JZ :4}{/’ d/c:/ﬂr’ ((I:;
(i) Write two methods for prevention of corrosion. _é iF ;{,.)’2 vé;tg}g’. j’”,f o
(iii) How electroplating of tin takes place? fe Gz = J':/ "u?.;/u,; "
(iv) Define oxidation number. a7 a ‘_«/_‘} '-j.’{; { L V; & @
(v) Name four least reactive metals. -& . <10/ - 42 W
U S r? d: 4_ L J,u ﬁut (vi)

(vi) How non-metals are essential for existence of life? 7 = é S L 3y (vii)
Z - -y
(vii) Write any two uses of sodium. o f’iit;"i):;; A L;‘l’ G
" . o I - 2
(viii) What is the difference between alkali and alkaline earth metals? "< O YL s T

( PART-1I p» 2 ) '

i & “Uxf_.:lﬂf»:_é;(.éi
Note : Attempt any TWO questions. . . - .
5 5. (a) How to write a chemical formula? -g;(a,w'v__/va»u,gfm ?c‘-mgw;fumdg{ () -5

in wi itable examples. 5 . , R .
Explain with suitab p xample.-égj&j J’({;L.wk: j}i‘_. Spfvédvup (?)

i i ith one e

2,2 (b) Write note on dative covalent bond with ¢ & i " :
’ 72 9 . 3 l .

5 6. (a) Give five differences between Rutherford's 4 J/ ég U pas” 7 d/ a5t () -6

atomic theory and Bohr's atomic theory. ) ) e g
4 (b) State Charles law. Explain it along with _éyb)‘;dl:..g,/’g}u gfugwb Kujzk ( - )

mathematical expression. . g P, o 05
5 7. (a) Discuss the rules for assigning oxidation numbers. _é Uk ﬂ’)’j ﬂﬂ"«{{/{ﬁyfi! ((.a;) 7
4 (b) What is a super saturated solution? How it is prepared?¥e— rtggCg = e I R sy (e
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